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DETERMINANTS

1. If
D = 11111 + 21111 + y|/forz # 0,y # 0

then D is (1) divisible by neither x nor y (2)
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divisible by both x and y (3) divisible by x but

not y (4) divisible by y but not x

° Watch Video Solution

2. The set of all values of A for which the
system of linear equations

2r1 — 2T9 + T3 = A1y

2r1 — 3Ty + 223 = Axy — I + 229 = Ax3
has a non-trivial solution,

(1) is an empty set

(2) is a singleton
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(3) contains two elements

(4) contains more than two elements

° Watch Video Solution

3. The system of linear equations
x4+ Ay—z=20 At —y—2=0
x + y — Az = 0 has a non-trivial solution for :
(1) infinitely many values of A . (2) exactly one
value of A . (3) exactly two values of X . (4)

exactly three values of A .

o Watch Video Solution
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4. If S is the set of distinct values of ’b for
which the following system of linear equations
x+y+z=1 xr+ay+z=1
axr + by + z = 0 has no solution, then S'is :
(1) a finite set containing two or more
elements

(2) a singleton set

(3) an empty set

(4) an infinite set

° Watch Video Solution
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